POLE DIA "D"

172" BOLT &

3/4 BOLT, NUT
2 COCK WASHER T~

SPRING /

LOCKING

SPACER

NUT\

/////ﬂ
HOOK PLATE

sPACER—"

—3/4" DOUBLE ARMING BOLT

\

.

MIDDLE
ADJUSTHENT
SHOWN

3/4" DOUBLE ARMING BOLT
WITH NUTS & WASHERS

/TAKE—UP PLATE

- MOTES -
o ALL BPADKET MATEPIAL IS ALUMINUM, BOLTS, WUTS AND WASHERS ARE

T 1l LESS STEEL BROUNDING LUG IS ASSEMBLED TO EACH CLUSTER
IT. THIS CAH BE RELOCATED AS DESIRED FOR EASY ATTACHMENT OF
THE GROUMD WIR
. EACH CLUSTER MGUHT INCLUDES OETAILED IMSTALLATION IMSTRUCTIONS
AND A _POLE MEASURING TAPE WHICH AIDS IM COMVENIENT "ON THE GROUND®
ADJUSTHENT (IF NECESSARY! BEFORE HANGING OWN THE POLE
4. EXTENSIOW PLATES CAM BE USED WITH ANY OF THE LISTED CLUSTER MOUNT
é?SEM?LIESSTD INCREASE THE POLE DIAMETER RANGE BY APPROXIMATELY
Vi NCHE!
5. ADAPTER_PLATES ALLOW HOUNTING OF LARGER TRANSFORMERS WITH TYPE C
LUGS. TWO PLATES ARE REQUIRED PER TRANSFURMER.

o

5/8" BOLT, MJT
& LOCK WASHER

.84 DIA HOLE\

™~

1l

GROUNDIMG LUG—

1l

24,

0

N 5 o e e
. L — g —" &—F
MOUNTING R S |"\‘ e
BRACKET
g R T e
74 Z7 - 7.0 TO 14.0
15.75
=N
T™NOTCA. TP VIEW EXTENSION FLATE
CAT. NO. (EF-18 AOAPTER HATE
(SEE NOTE-4) CAT. ND. C3Z21-A
{SEE NOTE-5)
MOUMTING BRACKET
SPACER —
_ O LETER MANT ASSEMA TFES
1 I WUMBER OF R E”
b \ - S.84 0 REFEREMCE | TRANSFORMERS | NOMINAL POLE HOMINAL MOUNTING
\ CATALOG MO, URE SUPPORTED DIAHETER RAMGE | DISTAMCE FROM POLE
CoM1 -6 Fig, | 7-3/4 70 (2-1/4 [ w !
e D e Fig. 1 7-3/8 10 12-174 5 z
CioMe-i F 7-3/4 TD 12-1/4 & G
C 102~ F 7-3/4 10 _12~1/8 CR S22
BEES F 7-3/8 70 12-1/4 5" u28:
Ci5M3-2 F 7-3/4 70 12-1/4 ER 2oyt
Ci5r3-058 F 7-3/2 7D 13-1/4 -9 5" =
4 3 Rig o E;E‘
EeRI] Fig. 1 7 —172 70 11-172 B 281
C5HI-8-5 Fig. 1 ] ~i72 10 11-1/3 9~ i
TYP. 4 L & L ET0N3-5-5 GE E —1/2 70 11172 - BN
Cl10M2-9-5 F —1/2 70 11-1/2 S
CISHZ-6-5 F ~1/2 70 _11-(/2 gogi
4 A d 4 > C1513-8-5 F ~17/2 10 11-1/2 - oamt
CI5M3-969-5 | F —i72 T0 11-1/2 6 -8 6" wa i
Eoni
CSMI-6-14 FIG. 1 1 9-1/2 10 14 g [y
CSHI-9-14 FIG. | 1 9-1/2 10 14 g- H
! l Clona-6-114 Fig, 2 2 9-i/2 10_14 3
Ly CioHa-5-14 F 9-1/2 10 14 g-
| Ci5M3-B-14 F 9-1/2 70 14 5"
CiSH3-9- 14 F §-1/2 70 14 ER
E - - - Ci5M3-880-14] F 9-i/2 10 14 E-9"5 g
e
5
2,
(=5
-~ - s
FIG. 2 FIG. 3 ,
i
2ug
S48
Al g
e A frietet]
B S R 5 S
Grd B | DATE [ITRES e |00 8
M E.C.|>om MOUNT, DOUBLE BAND CLUSTER [)18838¢
= T a——— Py s N
geianare SACsMI-6




